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Reasoning Ability

Directions for Questions 1 — 3: In a certain code
'Stars twinkle in night' is written as 'ti, ge, pa, me',
‘Night is part of day' is written as 'me, zi, di, fe, re',
'Day has evening and noon is written as 're, yi, ha,
ni, ta','Moon and stars has shine' is written as 'na,
qe, vi, ti, oa'.

1).
What is the code for 'Night'?

(a) Me (b)Ge (c)Fe (d)Di (e)Re

2). What is the code for 'Stars'?
(a) Pa (b)Ti (c)Qe (d)Na (e)Yi

3). What is the code for 'Day'?
(a)Fe (b)Di (c)Re (d)Yi (e)Ni

4). In a certain code language, "SISTER" is coded
as " THTSFQ". In the same code language,
"MOTHER" will be coded as "........ "?

(a) NNVGFQ (b) NNUGFQ (c) NOUGFQ
(d) NNUGGQ (e) None of these

5). How many such pairs of letters are there in the
word 'RAHUL' each of which has as many letters
between them in the word (in both forward and
backward direction) as they have between them in
English alphabetical series:

(a) Two (b) Three (c)Four (d)One

(e) None of these

Directions for Questions 6 — 10: In each of the
following questions, assuming the given statement
to be true, Find which of the following two
conclusion | and |l is/ are definitely true. Give
Answer:

6).
Statements-Z2X=P=sQ<R=S
Conclusion | -X < S

Conclusion 1l -Z2Q

(a) If only conclusion | is true.
(b) If only conclusion Il is true.
(c) If either | or Il is true.  (d) If neither | nor Il is true.

(e) If both | and Il are true

7). Statements-XsPsQ=R2Z<Y
Conclusion |- Qz2Y
Conclusion Il - X =R

(a) If only conclusion | is true.

(b) If only conclusion Il is true.

(c) If either | or Il is true. (d) If neither | nor Il is true.

(e) If both | and Il are true

8). Statements-Q=sP=2Z,Z<sRz2S,S>X2Y
Conclusion I - Q<R
Conclusion Il -R >Y

(a) If only conclusion | is true.

(b) If only conclusion Il is true.

(c) If either | or Il is true.  (d) If neither | nor Il is true.
(e) If both | and Il are true

9). Statements-P=Z<R R<S=>X>Y
Conclusion | -P < S
Conclusion Il - P =S

(a) If only conclusion | is true.

(b) If only conclusion Il is true.

(c) If either | or Il is true. (d) If neither | nor Il is true.
(e) If both | and Il are true

10). Statements-Y<R<S=P>Q=zX
Conclusion I - Y £ Q
Conclusion I - R < X

(a) If only conclusion | is true.

(b) If only conclusion Il is true.

(c) If either | or Il is true.  (d) If neither | nor Il is true.

(e) If both | and Il are true



Directions for Questions 11— 15: Study the
following information carefully and the question
given below:

Eight persons C, D, E, F, W, X, Y and Z are sitting
around a circle facing outside. W is second to the
left of C and is third to the right of Y. C is third to
the right of Z who is fourth to the right of X. F is
third to the left of E. E is an immediate neighbour
of X.

11). Who is second to the left of W?
(@D (P)E (c)Z (d)F (e)None of these

12). Who is fourth to the left of F?
@z (D ()Y (dC (e)W

13). Who among the following is an immediate
neighbour of D?

a2,y (b)Y,E (c)Z,E (d)E, W
(e) None of these

14). Who among the following sits fourth to the right
of E?

(@D (B)C (c)F (d)W (e)None of these

15). What is Z's position with respect to Y?
(a) Immediate left (b) Third to the left

(c) Third to the right (d) Fourth to the left
(e) Second to the right

Directions for Questions 16 — 20: Read the
following information carefully and the question
given below:

Eight persons C, D, E, F, W, X, Y, and Z are seated
in a straight line facing the south. A is third to the
left of C and is second to the right of D. Neither C
nor D sits at the extreme ends of line. Only two
persons sits between F and Y. E is third to the left
of Z who is second to the right of Y.

16). Who is third to the right of W?
(@X (b)D (c)F (d)Y (e)Z

17). Which of the following pairs represents person
seated at the two extreme ends of the line?

(@wWF (b)Z,E (c)E,F (dWZ

(e) None of these

18). Who is second to the left of E?
(@W (b)D (c)F (d)Y (e)X

19). Who is fifth to the left of C?
(@W (b)F ()X (d)Z (e)D

20). How many people are seated between W and
E?

(a) One (b) Two (c) Three (d) Four (e)Five

Directions for Questions 21 — 25: In each question
below are three statements followed by two
conclusions numbered | and Il. You have to take
the given statements to be true even if they seem
to be at variance from commonly facts and then
decide which of the given conclusions logically
follows from the given statements.

21).
Statements —

[- Some gold are grey.
I- Some grey are yellow.
lll- All yellow are green.
Conclusions -
| - Some green are grey.
Il - Some yellow are gold.
(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or |l follows.

(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and Il follows.

22). Statements —
I- Some train are plane.
I- Some plane are cycle.
- Some cycle are scooter.
Conclusions -
| - Some scooter are plane.
Il - Some train are cycle.
(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or |l follows.

(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and Il follows.

23). Statements —

I- All water are milk.



lI- All milk are oil.

Il- All oil are coffee.
Conclusions -

| - All milk are coffee.

Il - Some oil are water.
(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or |l follows.
(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and |l follows.

24). Statements —
I- No mango are guava.
lI- Some guava are fruit.
11~ All fruit are flower.
Conclusions -
| - Some mango are fruit.
Il - Some flower are guava.
(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or |l follows.

(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and |l follows.

25). Statements —
I- Some water are milk.
II- Some milk are oil.
- Some oil are coffee.
Conclusions -
| - Some water are oil

Il - No water is oil.

(a) If only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.

(e) If both conclusions | and |l follows.

Directions for Questions 26 — 30: Read the
following passage carefully and the question given
below it -

Eight person A, B, E, F, W, X, Y and Z live on
separate floor of an 8 floor building, But not
necessarily in the same order. Ground floor is
numbered 1, first floor is numbered 2 and so on
until the topmost floor is numbered 8. Only four
person lives below the floor on which Z live. Only

two person lives between X and F. A lives on
seventh floor. X lives on immediately below Z. B
lives on immediately above W. E lives on
immediately below A.

26). Who lives on the floor immediately below E?

@Y (b)F (c)Z (d)B (e)None of these

27). How many person lives between the floor on
which Y and Z live?

(@) One (b) Two (c) Three (d) Four (e)Five

28). Who among the following lives on floor number
87

(@A (b)B (c)Y (W (e)F

29). Who among the following lives on floor number
2?7

(@B (b)Y (c)A (d)F (e)W

30). Who lives on the floor immediately above F?

(B (b)W (c)A (d)E (e) None of these

Directions for Questions 31 — 35: Study the
following arrangement carefully and the question
given below:

B.EGHLAS@P#7,C,D14JKQ, %,
R/13TES8WXO097Z+Y"U,2

31). How many such vowels are there in the above
arrangement each of which is immediately
preceded by a consonant and also immediately
followed by a number?

(a) One (b) Two (c) Three (d)Four (e)Five

32). Which of the following is fourth to the left of
fifteen from the right end?

(a) J (b)Q (¢)K (d)% (e)R

33). What will come place in question mark (?) in
the following series based on the above
arrangement?

BGL, @#C, 4K%, ?

(a) 1T8 (b) 138 (c) 1EW (d) 1TW (e) 13W

34). Which of the following is seventh to the left of
twenty from the left end?

(@7 (bB)C (c)D (d)y# (e)l

35). If all consonants are dropped from the above
arrangement, which of the following will be fourth



from the left end of the above arrangement?

@A (B)S ()@ ((# (e)7

Numerical Ability

Directions for questions 1 — 10: What value should
come in place of the marks (?) in the following
questions?

1) 844.241 - 1040.69 + 846.536 + 39.025 =?
(a) 689.112 (b) 687.212 (c)691.231 (d) 692.312
(e) 685.112

2). 18 0f 1044 + 46% of 1923 — 23% of 2300 = 7
(a) 578.28 (b) 576.23 (c) 574.82 (d) 570.69
(e) 572.48

3)- (27,225 + 55 + 15) + (4,000 + 25 + 5) =7
(a)66 (b)70 (c)68 (d)65 (e)62

4). 48 x7=(3832 =4) + 50
(@21 (b)23 (c)22 (d)20 (e)25

5). 96 x (189 +45) + 122~ (6.5x 24) =?
(a) 369.2 (b)365.8 (c)371.5 (d)367.8
(e) 373.2

6).
@Fx3x3x3x3)x3x3x3)? +(3x3I)*=(27)

(b)
@s 3 ()2 (Mg (e)s

7). 135 x85 x 195 +5 =72-81475
(@23 (b)21 ()20 (d)25 (e)26

NN ST
27 19 7

(a) 196 (b) 189 (c)192 (d) 194 (e) 199

9. 17 5 5 ?4.
) 68—+ 31—+ 112=- 198 =7

(a)

14(922) B)y52 (C)y32 (@122 ()16

10) 7= 14 + (7% 6) = V1156

(a)34 (b)36 (c)49 (d)30 (e)35

Directions for questions 11 — 15: What
approximate value should come in place of the
marks (?) in the following questions? (Note : you
are not expected to calculate the exact value.)
11). 380213 x 48.1021 - 1089.9102 + 4.8999 =?

(a) 739 (b)761 (c)702 (d)763 (e)709

12). = of 731 + 18.01% of 1400 + (28.09 x 8.91) =?

(a) 491 (b) 587 (c)547 (d)612 (e) 596

13). 18122 - 89.087 + 103.952 =7
(a) 3296 (b) 3295 (c)3298 (d)3175 (e) 3219

14). 13130 =404 x 9709 + 365 =7 +(19.03 x 8.10)
(e) 689

(a) 713 (b) 756 (c)748 (d)765

15). 126.03 x 8.09 + 9807.88 = 72
(@) 115 (b) 109 (c)98 (d) 112 (e) 104

Directions for questions 16 — 20: What will come at
the place of mark (?) in the following number
series?

16). 50, 55, 48, ?, 46, 59
(a)57 (b)59 (c)52 (d)55 (e)58

17). 37,19,?,31.5, 65, 165
(@22 ()20 (c)17 (d)19 (e)23

18). 38, 44, 52, 63, 2, 98
(@75 ()77 (c)78 (d)80 (e)81

19). 814, 693, 837, 668, 864, ?
(a) 632 (b)635 (c)633 (d)639 (e)641

20). 84, 90, 102, 122, 2, 194
(a) 150 (b) 156 (c) 158 (d) 153 (e) 152

21). The radius of a circle is equal to the side of a

square whose area is 441 cm?. What is the area of
the circle?



(c)

(a) 1378cm? (b) 1383cm? 13860[1’12 (d) 138%cm?

(e) 1376cm?

22). The difference between C.l and S.l. on a
certain sum at 12%p.a. for 3years is Rs449.28.
Find the sum?

(a) Rs10500 (b) Rs10000 (c) Rs11000

(d) Rs11500 (e) Rs12000

23). The sum between 43% of a number and 17% of
the same number is 780. What is the 26% of 3 1 of
13

that number?

(a) 1040 (b) 1043 (c) 1050 (d) 1035 (e) 1045

24). The difference between the present ages of
Rishav and Rinku is 8years. Eight years hence,
The ratio of their ages will 6 : 5 respectively. What
is Rinku's present age?

(d)

(@) 33 years (b) 35 years (c) 40 years 32 years

(€) 25 years

25). Raj started a business by investing Rs23,000.
After 4 months, Ronak joined him by investing
Rs25,000. After 4 months, Rishu joined them by
investing Rs30,000. At the end of the year they
earned a profit of Rs15645. What is Raj's share in
profit?

(a) Rs7230 (b) Rs7234 (c)Rs7245 (d) Rs7280

(e) Rs7250

26). What is the least number to be subtracted to
1160 to make it a perfect square?

@3 (b)7 ()5 (d)8 (e)4

27). The list price of a book is Rs390 and a
customer pays Rs260 for it. The discount rate is:

(a) 38.45% (b) 33.33% () 30.12% (d) 25%
(e) 20%

28). The average of four consecutive odd numbers
J, K, L, Mis 26. What is the product of J and M?

(e)
(a)665 (b) 474 () g7z (d)g7g 667

29). Abag contains 4 blue, 11 yellow and 5 black
caps. If 3 cap are picked at random. What is the
probability that at least one is black?

(e)
(b) 32 (c) 227 (d)2Z 137/228

229

(a)

137
223

30). In how many different ways can the letter of
word "SHUKLA" be arranged.

(a) 720 (b)360 (c)120 (d)5040 (e)2520

Directions for Questions 31 — 35: Study the
following line - charts carefully to the given
questions.

Number of printers manufactured by three
different companies over the years
(In hundreds)

Rumber of printers

31). Number of printers manufactured by company
D and F together in 2007 is what percent of
number of printers manufactured by company E in
2008 and 2009 together?

(a) 72.22% (b) 76.54% (c) 77.32% (d) 70.36%
(e) 69.58%

32). What is the percentage increase in number of
printers manufactured by company D in 2006 as
compared to the previous year?

(a) 66.66% (b) 15% (c)50% (d) 33.33%
(e) 31.12%

33). What is the difference between the total
number of printers manufactured by company E in
2004, 2007 and 2009 together and total number of
printers manufactured by company F in 2004,
2005 and 2006 together?

(a) 150 (b) 100 (c) 120 (d) 115 (e) 105

34). What is the percentage decrease in number of
printers manufactured by company E in 2005 as
compared to the previous year?

() 65% (b) 55% (c)45% (d)50% (e) 60%



35). What is the average number of printers
manufactured by company F in 2004, 2005, 2006,
2007 and 2008 together?

(@15 (b)705 (c)725 (d)700 (e)710

English Language

Directions (Q. No. 1-10) Read the following
passage carefully and answer the questions given
below it. Certain words/phrases are given in the
bold to help you to locate them while answering
some of the questions.

A goat was struggling violently and injured many
people, as it was being led away by a dozen men
through the street. It was being taken away for a
sacrificial offering. But it became calm the moment
it saw a saint. The saint bent down and said
something in its ear and patted it on its back. He
then withdrew, covering his face and muttering
"How sad! My poor friend!".

The animal now tame allowed itself to be led away.
The onlookers flocked around the saint and asked
him what he had whispered to the goat?

The saint explained that the goat was a
reincarnation of his good friend, a wealthy man
who instituted the sacrifice as a ritual in the village
and that he had told the goat that the game was
started by it in its previous birth so why was it
complaining now when it was its time to be in the
same boat. He continued "As one sows, so shall
he reap".

The story spread and eventually brought an end
to the ritual of animal slaughter in the name of
sacrificial offering in the village.

1).
Which of the following can be inferred from the
passage?

(a) Reincarnation is a phenomenon which occurs
(b) One receives as one propagates

(c) Animal slaughter is now banned by law

(d) Saints do have magical powers

(e) Such stories do not have any effect

2). Why was the goat being led away by the people?
i. It had helped many people.
ii. To be slaughtered as a sacrificial offering
iii. To avoid panic is the town.

(a) Onlyi (b) Onlyii (c) Onlyiii (d)iand iii

(e) None of these

3). Which of the following is true in the context of the
passage?
(a) The goat was not sacrificed

(b) The ritual of sacrifice gradually stopped in the
village

(c) The saint did not believe in reincarnation

(d) The onlookers were ashamed of themselves and
avoided the saint

(e) The goat was afraid of the saint

4), Why did the goat recognize the saint?

(a) It was the saint who had asked people to sacrifice
it

(b) The saint was wearing a robe unlike the other
onlookers

(c) The saint had a peculiar look

(d) The saint had been a good friend of the goat in its
previous birth

(e) None of the above

5). Why did the saint mutter "How sad! My poor
friend"?

(a) He was against the lifestyle of his friend

(b) The goat had been injured while it was being led
away

(c) The goat was dying from its wounds

(d) He was sad because his friend was going to be
killed

(e) None of these

6). Why did the animal become docile after the saint
talked to it?

(a) It was keen to be sacrificed

(b) It had already injured many people and was tired
(c) The priest promised that it wouldn't be sacrificed
(d) The priest promised that it wouldn't be sacrificed

(e) It had accepted that it deserved its fate

7). Choose the word that is most nearly the SAME
in meaning to the word printed in bold as used in
the passage.

Patted

(a) Stroked (b) Flattened (c) Hit (d) Hurt

(e) Beaten

8). Choose the word that is most nearly the SAME
in meaning to the word printed in bold as used in
the passage.



Flocked
(a) Herd (b) Together (c) Gathered

(d) Accompanied (e) Group Directions

9). Choose the word which is most OPPOSITE in
the meaning to the word printed in bold as used in
the passage.

Tame

(a) Spirited (b) Disciplined (c¢) Cruel (d) Insane

(e) Extravagant

10). Choose the word which is most OPPOSITE in
the meaning to the word printed in bold as used in
the passage.

End

(a) Life (b) Begin (c) Middle (d) Continue
(e) Start

Directions (Q. No. 11-15) Which of the phrases (a),
(b), (c) and (d) given below each sentence should
replace the phrase printed in bold in the sentence
to make it grammatically correct? If the sentence is
correct as it given and no correction is required,
mark (5) as the answer.

11). He doesn't hesitate to do whatever his brother
does.

(a) willdo (b)woulddo (c)shalldo (d) did

(e) No correction required

12). Try to be diplomatic when you refuse any
invitation, so far not to cause bad feelings
(a) as far not (b) soas not (c)if as far not

(d) so faras (e) No correction required

13). The police are trying to solve the mystery.
(a) was (b) has been (c)is (d)were

(e) No correction required

14). We spent an hour discussing about his
character

(a) his character (b) on his character
(c) of his character (d) upon his character

(e) No correction required

15). On attempting to stage a drama, a new
meaning to the story was discovered.

(a) When attempted  (b) On our attempting
(c) Attempting (d) While attempting

(e) No correction required

Directions (Q. No. 16-20) Read each sentence to
find out whether there is any grammatical error in
it/the error if any; will be in one part of the
sentence. The number of that part is the answer. If
there is no error the answer is (5). (ignore the
errors of punctuation, if any)

16). | was pretty sure that (1)/he would support me
(2)/for changing the age-old (3)/and static structure
of our organization. (4)/No error (5)

@1 (k)2 (c)3 (d)4 (e)5

17). The interrogation made by (1)/ him hardly yield
(2) any can create conclusion (3)/ about the
crime. (4)/ No error (5)

(@1 (b)2 (c)3 (d)4 (e)5

18). Jayesh loved his Guru immensely (1)/and gave
him fullest loyalty, (2)/yet he had his own
(3)independent way of thinking. (4) No error (5)

(@1 (b)2 (c)3 (d)4 (e)5

19). | caught him (1)/from the hand (2)/and began
(3)/to plead. (4)/No error (5)

(@1 (k)2 (c)3 (d)4 (e)5

20). If you have good (1)/ control over breathing (2)/
you can float (3)/ on water effortlessly. (4)/ No error

()
(@1 (b)2 (c)3 (d)4 (e)5

Direction (Q. No. 21-25) Rearrange the following
six sentence (A), (B), (C), (D), (E) and (F) in the
proper sequence to form a meaningful paragraph,
then answer the questions given below.

A. India, with her many linguistic traditions, has her
share of writers, past and present.

B. They also reflect over important questions and
do much more.

C. Authors serve several roles in any civilization.

D. Above all, they put down thoughts, facts and
descriptions in a format that can be recalled even
after many generations have passed.

E. They systematize knowledge, clarify ideas,
inspire readers and take us to realms of fantasy.

F. They have enriched her culture in countless
ways opened up the minds and sensitivities of
millions and brought joys and tears to just as
many.



21). Which of the following will be the FOURTH
sentence after arrangement?

(@A (B)B (c)C (d)D (e)E

22). Which of the following should be the SECOND
sentence after arrangement?

(@A (B)B (c)C (d)D (e)E

23). Which of the following will be the FIRST
sentence after arrangement?

(@A ()B (c)C (d)D (e)E

24). Which of the following will be the THIRD
sentence after arrangement?

(@A (p)B (c)C (d)D (e)E

25). Which of the following will be the FIFTH
sentence after arrangement?

(@A (b)B (c)C (d)D (e)E

Directions (Q. Nos. 26-30) In the following
passage there are blanks, each of which has been
numbered. These numbers are printed below the
passage and against each five words suggested
one of which fits the blank appropriately. Find out
the appropriate word in each case.

Raju was orphaned at a very ... (26) ... age. He
lost both of his parents because his family was ...

(27) ... poor to afford any treatment. He was
deeply affected by this. He decided to work hard
and stand on his own feet. Along with his studies
he ... (28) ... part-time in a restaurant and earned
enough money in order to pursure his studies.
Being a brilliant student, he earned scholarships
and later managed to get admission in a good
medical college. He is now a ...(29)... doctor and
helps poor patients for ... (30).

26).

(a) youth (b) early (c) childhood
(d) childish (e) recent

27).

(a) litle (b)so (c)too (d) some (e)ample

28).

(a) worked (b) employed (c)busy (d) established

(e) functioned

29).
(a) recognize (b) know (c) respected (d) worth

(e) merit

30).
(a) favour (b)less (c)penny (d) subsidy

(e) free




